


Select the phrase/connector from the three options that can be 

used to form a single sentence from the two sentences below, 

implying the same as expressed in the statement sentence.



You can go to the Italian restaurant. You can choose the 

Chinese food counter on the back side of Dublin Lane.

1. Similarly

2. And 

3. Or

1. Only 1

2. Only 2

3. Only 3

4. Both 1 and 2

5. Both 2 and 3



I disagree with the thought of buying a new laptop. We 

already have two at home.

1. Therefore

2. Moreover

3. Because

1. Only 1

2. Only 2

3. Only 3

4. Both 1 and 2

5. Both 2 and 3



Aisha came from basketball practice. She left for an 

aerobics class.

1. Not Only

2. And then

3. Whereas

1. Only 1

2. Only 2

3. Only 3

4. Both 1 and 3

5. Both 1 and 2



She loves candies so much. I decided to give her a candy-

printed dress.

1. Therefore

2. Since

3. Yet

1. Only 1

2. Only 2

3. Only 3

4. Both 1 and 2

5. Both 2 and 3



In this question, a sentence has been divided into five parts 

(A), (B), (C), (D), and (E). Read the sentence to find out 

whether there is any grammatical error in it. The error if any, 

will be in one part of the sentence. If there is no error, the 

answer is 'No error'. Ignore the error of punctuation if any.



The king was prepared (A)/ to levy war upon (B)/ his 

neighbour after their (C)/ quarrel above the land. (D)/ No 

error (E)

1. A

2. B

3. C

4. D

5. E



A pair of supportive (A)/ shoes are important (B)/ if you 

are (C)/ experiencing lower back pain. (D)/ No error (E)

1. A

2. B

3. C

4. D

5. E



If you will eat (A)/ your breakfast, you (B)/ will be 

allowed (C)/ to watch television. (D)/ No error (E)

1. A

2. B

3. C

4. D

5. E



In the given question, a word in the sentence is printed in 

bold. Below the sentence, alternatives to the emboldened 

part are given which may help improve the sentence. 

Choose the correct alternative out of the given five 

options.



A small business has to accuse to meet the operating 

expenses when its profits decrease.

1. Strike

2. Replenish

3. Struggle

4. Cripple

5. Yield



She adored an operation on a tumor in her left lung 

last year.

1. Revoked

2. Underwent

3. Fantasized

4. Accrued

5. Suffered



In the given sentence, four words, given in bold are 

marked as (A), (B), (C) and (D). These words may or may 

not be placed in their right places. Four options with 

different arrangements of these words are given below, 

mark the option with the correct arrangement as your 

answer. If no change is required mark 'No rearrangement 

required' as your answer.



The digital anonymity (A) provide platforms (B) initially 

but later search (C) students into them where they suck (D) 

for emotional support and love.

1. ADBC

2. BDCA

3. CABD

4. BADC

5. No rearrangement required



Academics (A) doesn’t take mental health seriously (B) 

and it is the government (C) that have to step in, more so 

in a competitive (D) digital world.

1. CBAD

2. CABD

3. BCAD

4. BADC

5. No rearrangement required



The slumber (A) of student suicides and recent (B)

murders by students in Telangana in gruesome (C) times 

have jolted people out of their spree. (D) 

1. ACBD

2. DCBA

3. BADC

4. CBAD

5. No rearrangement required



Fill in the blanks in the passage below, with the word from 

among the options given for each blank labelled (1) to (6). 

Choose the word that fits in each blank most appropriately 

in the context of the passage.



There is a __(1)___ church in the city of New York that I have always regarded with 

peculiar interest, on account of a marriage there solemnized, under very singular 

circumstances, in my grandmother's girlhood. That venerable lady chanced to be a 

spectator of the __(2)___ and made it her favourite narrative ever after. Whether the 

edifice now standing on the same site be the ___(3)___ one to which she referred, I 

am not antiquarian enough to know; nor would it be worthwhile to correct myself, 

perhaps, of an agreeable error, by reading the date of its erection on the tablet over the 

door. It is a stately church, ___(4)___ by an inclosure of the loveliest green, within 

which appear urns, pillars, obelisks, and other forms of monumental marble, the 

tributes of private affection, or more splendid memorials of historic dust. 

The marriage might be considered as the ___(5)___ of an early engagement, though 

there had been two intermediate weddings on the lady's part, and forty years of 

celibacy on that of the ___(6)___. 



There is a __(1)___ church in the city of New York that I have 

always regarded with peculiar interest, on account of a 

marriage there solemnized, under very singular circumstances, 

in my grandmother's girlhood. 

Select The most appropriate option to fill in blank number 1.

1. unsure

2. certain

3. hesitant

4. timid 

5. lazy



That venerable lady chanced to be a spectator of the 

__(2)___ and made it her favourite narrative ever after.

Select The most appropriate option to fill in blank 

number 2.

1. stage

2. sight

3. decor

4. adornment

5. scene



Whether the edifice now standing on the same site be the ___(3)___ 

one to which she referred, I am not antiquarian enough to know; nor 

would it be worthwhile to correct myself, perhaps, of an agreeable 

error, by reading the date of its erection on the tablet over the door. 

Select The most appropriate option to fill in blank number 3.

1. identical

2. distinct

3. diverse

4. assorted

5. parallel



It is a stately church, ___(4)___ by an inclosure of the loveliest 

green, within which appear urns, pillars, obelisks, and other 

forms of monumental marble, the tributes of private affection, or 

more splendid memorials of historic dust. 

Select The most appropriate option to fill in blank number 4.

1. allow

2. free

3. permit

4. surrounded

5. release



The marriage might be considered as the ___(5)___ of an 

early engagement, though there had been two intermediate 

weddings on the lady's part, and forty years of celibacy on 

that of the ___(6)___. 

Select The most appropriate option to fill in blank number 5.

1. origin

2. result

3. cause

4. ideal

5. conviction



The marriage might be considered as the ___(5)___ of an 

early engagement, though there had been two intermediate 

weddings on the lady's part, and forty years of celibacy on 

that of the ___(6)___. 

Select The most appropriate option to fill in blank number 6.

1. female

2. enemy

3. goon

4. player

5. gentleman
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